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#include
#include
#include
#include

<iostream>
<algorithm>
<vector>
<map>

using namespace std;

typedef pair<int, int> pii;

typedef pair<pii, vector<int>> piv;
const int mov_t[] = {0, 20, 33, 46};
const int proc_t[] = {560, 400, 378},
const int ud_t[] = {28, 31};

const int clr_t = 25;

const int tot_t = 1000;

vector<piv> dfs_stack, ans_stack;

int global_ans = 0;

void print_st(piv& st) {

cout << st.first.first << '

for (int i : st.second) {
cout << " ' << 1;
ks
cout << endl;
It
void print_stack() {
for (auto& st : ans_stack) {
print_st(st);
ks
Iy
int eval_func(int rem_t, int cur_pos, vector<int>& cnc_sts) {
int res = 0;
rem_t —= mov_t[cur_pos];
if (rem_t < @) rem_t = 0;
for (int 1 =0; i < 8; i++) {
if (cnc_sts[i] != -1 && rem_t >= cnc_sts[i]) {

}

res++;

' << st.first.second;

res += rem_t x 8 / (proc_t[0] + ud_t[0]);

return

res;

21



43

44

46

47

48

49

50

51

52

53

54

55

56

57

58

59

60

61

62

63

64

66

67

68

69

70

71

72

73

74

75

76

78

79

[
S

81

82

83

84

85

void dfs(Cint rem_t, int cur_pos, vector<int> cnc_sts, int cur_ans) {

if Ccur_ans + eval_func(rem_t, cur_pos, cnc_sts) <= global_ans) return;

if (rem_t <= mov_t[cur_pos]) {
if Ccur_ans > global_ans) {
global_ans = cur_ans;
ans_stack = dfs_stack;
ks

return;

}

dfs_stack.push_back(make_pair(make_pair(rem_t, cur_pos), cnc_sts));
vector<int> order = {0, 1, 2, 3, 4, 5, 6, 7};

for (int 1 =0; i < 8; i++) {
int cur_max = i;
for (int j =1; j < &; j++) {

if (max(mov_t[abs(cur_pos — order[cur_max] / 2)],
cnc_sts[order[cur_max]]) + ud_t[order[cur_max] % 2] <
max(mov_t[abs(cur_pos — order[j] / 2)], cnc_sts[order[j]]) +

ud_t[order[j] % 21) {
cur_max = j;

}

swap(order[cur_max], order[i]);

ks
for (int i : order) {
int pos =1 / 2;

int t = max(mov_t[absCcur_pos — pos)], cnc_sts[i]) + ud_t[i % 2]1;

vector<int> new_cnc_sts = cnc_sts;

new_cnc_sts[i] = proc_t[@] — (cnc_sts[i] == -1 ? @ : clr_t);
for (int j = 0; j < 8; j++) if(i !'= j) {
if (new_cnc_sts[j] == —1) continue;

new_cnc_sts[j] —= t + clr_t;

if (new_cnc_sts[j] < @) new_cnc_sts[7j]

}

dfsCrem_t — t — clr_t, pos, new_cnc_sts,

1));
}
dfs_stack.pop_back();

int main(Q) {
ios::sync_with_stdio(false);

vector<int> init_st = {-1, -1, -1, -1, -1,

dfs(tot_t, 0, init_st, 0);
cout << global_ans << endl;
print_stack();
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return 0;

F13% B Python JHE{LHS

import random

move_step_times = [0, 20, 33, 46]
process_times = [560, 400, 378]
up_down_times = [28, 31]

clean_time = 25

move_step_times = [0, 23, 41, 59]
process_times [580, 280, 500]
up_down_times = [30, 35]
clean_time = 30

H OH OB R

move_step_times = [0, 18, 32, 46]
process_times = [545, 455, 182]
[27, 32]

up_down_times
clean_time = 25
INF = 100000000

HOH OB OH R

cur_pos = 0
cur_time = @

def move_time(posl, pos2):
return move_step_times[abs(posl — pos2)]

cnt = 0

res = 0

cnc_states = [@ for i in range(8)]
fst_time = [True for i in range(8)]
item_idx = [-1 for i in range(8)]
broken = [@ for i in range(8)]
items = []

broken_items = []

while True:
candidates = [1 for i in range(8)]

candidates.sort(key=lambda 1i:max(move_time(cur_pos, i // 2), cnc_states[i]) +

up_down_times[i % 2])
ok = False
for cur_cnc in candidates:

t1l = max(move_time(cur_pos, cur_cnc // 2), cnc_states[cur_cnc])
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to_cur_cnc_time = tl1 + up_down_times[cur_cnc % 2]
ct = clean_time if not fst_time[cur_cnc] else 0@
if cur_time + to_cur_cnc_time + ct + move_time(cur_pos, @) > 8 % 3600:
continue
ok = True
# print(cur_time, cur_pos, cnc_states, res)
if broken[cur_cnc] > 0:
continue
if random.random() < 0.01:
broken[cur_cnc] = random.randint(10 % 60, 20 % 60)
items.append({'cnc': cur_cnc + 1, 'up_time': cur_time + t1, 'down_time':
None})
print(len(items), cur_cnc + 1, cur_time + to_cur_cnc_time, cur_time +
broken[cur_cnc])
broken_items.append({'cnc': cur_cnc + 1, 'up_time': cur_time + t1,
"down_time"': None})
continue
for 1 in range(8):
chc_states[i] —= to_cur_cnc_time + ct
broken[i] —= to_cur_cnc_time + ct
if cnc_states[i] < O:
cnc_states[i] = 0
if broken[i] < 0:
broken[i] = @
items.append({'cnc': cur_cnc + 1, 'up_time': cur_time + t1, 'down_time':
None})
chc_states[cur_cnc] = process_times[@] — ct

if fst_time[cur_cnc]:
fst_time[cur_cnc] = False
else:
res += 1
items[item_idx[cur_cnc]]['down_time'] = cur_time + t1
cur_time += to_cur_cnc_time + ct
cur_pos = cur_cnc // 2
item_idx[cur_cnc] = len(items) — 1
break
not ok:
break

print(res)
print(res % process_times[0@] / (8 * 8 % 3600))
for item in items:

print('\t'.join(map(str, item.values())))
print('Broken:"')

for item in broken_items:

print('\t'.join(map(str, item.values())))

print(items)
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move_step_times = [0, 20, 33, 46]

process_times
up_down_times

[560, 400, 378]
[28, 31]

clean_time = 25

H OH OB R

H OH OH O®

move_step_times = [0, 23, 41, 59]
process_times = [580, 280, 500]
up_down_times = [30, 35]
clean_time = 30

move_step_times = [0, 18, 32, 46]
process_times = [545, 455, 182]
up_down_times = [27, 32]
clean_time = 25

INF = 100000000

def move_time(posl, pos2):

return move_step_times[abs(posl — pos2)]

count = {}

for bin_class in range(l << 8):

cnc_class = [0 if (bin_class & (1 << 1)) == 0 else 1 for i in range(8)]

if bin_class != 0:

break
cnc_class = [0, 1, 0, 1, 0, 1, 0, 1]
res = 0
cur_pos = 0
cur_time = 0
half_prod = None
cnc_states = [@ for 1 in range(8)]
fst_time = [True for i in range(8)]
item_idx [-1 for i in range(8)]
items = []

while True:

candidates = [1 for i in range(8)]

candidates.sort(key=lambda 1i:max(move_time(cur_pos, i // 2), cnc_states[i])

+ up_down_times[i % 27])
ok = False
for cur_cnc in candidates:

if half_prod and cnc_class[cur_cnc] ==

continue
t1l = max(move_time(cur_pos, cur_cnc // 2), cnhc_states[cur_cnc])
to_cur_cnc_time = t1 + up_down_times[cur_cnc % 2]
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ct = clean_time if cnc_class[cur_cnc] == 1 else 0
if cur_time + to_cur_cnc_time + ct + move_time(cur_pos, @) > 8 % 3600:
continue
if cnc_class[cur_cnc] ==
if cur_time + to_cur_cnc_time + process_times[1] + process_times[2] +
clean_time + move_time(cur_pos, @) > 8 * 3600:
half_prod = True
continue
ok = True

# print(cur_time, cur_cnc, cnc_states, cnc_class[cur_cnc], half_prod, res)

for i in range(8):
cnc_states[i] —= to_cur_cnc_time + ct
if cnc_states[i] < 0:
chc_states[i] 0
chc_states[cur_cnc] process_times[cnc_class[cur_cnc] + 1] — ct
if cnc_class[cur_cnc] == 0:

items.append({'cncl': cur_cnc + 1, 'up_timel': cur_time + t1,
"down_timel': None, 'cnc2': None, 'up_time2': None, 'down_time2':
None})

if item_idx[cur_cnc] != —1:
items[item_idx[cur_cnc]]['down_timel'] = cur_time + tl1
half_prod = item_idx[cur_cnc]

item_idx[cur_cnc] = len(items) — 1

else:
if not half_prod:

items[half_prod]['cnc2'] = cur_cnc + 1
items[half_prod]['up_time2'] = cur_time + tl
if item_idx[cur_cnc] !'= —1:
items[item_idx[cur_cnc]]['down_time2'] = cur_time + tl
item_idx[cur_cnc] = half_prod
res += 1
half_prod = None
cur_time += to_cur_cnc_time + ct
cur_pos = cur_cnc // 2
break
if not ok:
break
num_1 = sum(cnc_class)
if count.get((8 — num_1, num_1)) is None:
count[(8 — num_1, num_1)] = []
count[(8 — num_1, num_1)].append(res)

print(count)

import random
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move_step_times = [0, 20, 33, 46]
process_times [560, 400, 378]
up_down_times = [28, 31]
clean_time = 25

H OH H O®

move_step_times = [0, 23, 41, 59]
process_times [580, 280, 500]
up_down_times = [30, 35]
clean_time = 30

H OH OB R

move_step_times = [0, 18, 32, 46]
process_times = [545, 455, 182]
up_down_times = [27, 32]
clean_time = 25

def move_time(posl, pos2):
return move_step_times[abs(posl — pos2)]

ans = 0

for bin_class in range(l << 8):

cnc_class = [0 if (bin_class & (1 << 1)) == 0 else 1 for i in range(8)]

# print(cnc_class)

# if bin_class != 0:

# break

# cnc_class = [0, 1, 0, 1, 0, 1, 0, 1]

res = 0
cur_pos = 0
cur_time = 0
in_hand = None
cnc_states = [@ for i in range(8)]
item_idx = [None for i in range(8)]
items = []
while True:
ok = False
candidates = [i1 for i in range(8)]

candidates.sort(key=lambda i:max(move_time(cur_pos, i // 2), cnc_states[i])

+ up_down_times[i % 21)
for cur_cnc in candidates:

if in_hand is not None and cnc_class[cur_cnc] ==

continue

if in_hand is None and cnc_class[cur_cnc] == 1 and item_idx[cur_cnc] is

None:
continue
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mt = move_time(cur_pos, cur_cnc // 2)
rt = cnc_states[cur_cnc]
ct =0
t = max(mt, rt)
if cur_time + t + up_down_times[cur_cnc % 2] + move_time(cur_cnc // 2, @)
> 8 % 3000:
continue
ok = True
# print(cur_time, cur_pos, cnhc_states, item_idx, in_hand, res)
ct = clean_time if (cnc_class[cur_cnc] == 1 and item_idx[cur_cnc] is not
None) else 0
for i in range(8):
cnc_states[i] —= (t + up_down_times[cur_cnc % 2] + ct)
if cnc_states[i] < 0:
cnhc_states[i] = 0
if cnc_class[cur_cnc] == 0:
items.append([cur_cnc + 1, cur_time + t, None, None, None, None])
if item_idx[cur_cnc] is not None:
in_hand = item_idx[cur_cnc]
items[in_hand][2] = cur_time + t
item_idx[cur_cnc] = len(items) — 1
cnc_states[cur_cnc] = process_times[1]
else:
if in_hand is None:
items[item_idx[cur_cnc]][-1] = cur_time + t
item_idx[cur_cnc] = None
res += 1
else:
if item_idx[cur_cnc] is None:
item_idx[cur_cnc] = in_hand
in_hand = None
items[item_idx[cur_cnc]][3]
items[item_idx[cur_cnc]][4]
else:
items[in_hand][3]
items[in_hand][4]
items[item_idx[cur_cnc]][5] = cur_time + t

cur_cnc + 1

cur_time + t

cur_cnc + 1
cur_time + t

item_idx[cur_cnc] = in_hand

in_hand = None

res += 1

cnc_states[cur_cnc] = process_times[2] — ct
cur_time += t + up_down_times[cur_cnc % 2] + ct
cur_pos = cur_cnc // 2
break
if not ok:
break
ans = max(ans, res)
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print(ans)
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